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Section 1 - General Knowledge

1) Romania born, international sports star Simona 1) TATAAT § S+ S@APT TIC ©IX HHAMET god

Halep is associated with which of the following fferfea o eor & wefaa g ?
sports?

A) Volleyball A) i
B) Badminton B) a=fHea
C) Tennis C)zfhw
D) Cricket D) fFehe

2) According to the Election Commission of India a 2) STXd & A= ST & HATIaF U TSI [ T

political party shall be entitled to be recognised as a T T7 § AIFAGTITE TSIH [T &1 19 & forw Fefea
State party, if it secures at least what percent of the T & =H Fa1d, =T fAem=a«r & fow gr a7 Fam
valid votes polled in the State at a general election, TRwg & forg, Sad fha afaea ag wq Friae w0
either to the House of the People or to the Legislative == 21

Assembly of the State concerned?

A) Ten percent A) == afaera
B) Six percent B) B wfaera

C) Three percent C) = wfaera
D) Eight percent D) EIEEIREE

3) Arthshastra was a book written during which of the 3) f=ferfera & & fore wrer & srefermer ATH Tea fordt

following periods? TS oft1?
A) Shaka A) o
B) Kushana B) FuTor
C) Gupta C)=
D) Maurya D) #
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4) The scientific study of the structure of human or 4) WA AT ¢ % 9T T GLAAT 6 AT LTI T FAT

animal bodies is termed as gl ATAT 872

A) Anatomy A) TATETHY

B) Botany B) afet

C) Aerobiology C) TAETATA TSI
D) Ornithology D) st feerrertsiy

5) Article 51A, Part IVA of the Indian Constitution 5) WTZd T SfagTT T dq=sg 51A, AT IVA AR &
specifies the list of fundamental duties of the citizens. WITersh Faeat T T AT FEATEI AT & TAF AR

Which of the following statements is CORRECT with & Fd=a1 & Gva¥ | fAwfetflrd & & i a7 %7 98t 27
respect to duties of every citizen of India?

(i) To cherish and follow the noble ideals which (i) 3T WETH ST &7 AT AT IAHRT ITAT FLAT o2

inspired our national struggle for freedom T o oI gHTE T st &y o fReT oft
(i) To value and preserve the rich heritage of our (i) /T HI<H a7 TSl Fepfa it g5 e #
composite culture Hgd auT 3¥ | AT
(iii) To develop the scientific temper, humanismand' (iii) AT T= T AAG T, ATAATATE & GTF T AT
the spirit of inquiry and reform QAT AT ATEAT T FAwad Fr
A) (i), (ii) and (ii)
B) (i) and (ii) only A) (i), (ii) =T (iii)
C) (ii) and (i) only B) e (i) T (ii)
D) (i) and (iii) only C) et (ii) ¥ (iii)
D) 3=reT (i) S (ii)
6) Who among of the following served as a senior 6) fAferfea & & fore aeg & Taig =AA=T # als

judge in the Supreme Court of India, has been a =aTrefter & T ¥ F1F fFFaT 8 3T 27 o 2012 &

member of the International Court of Justice since 27 eI Tl A T(ed % TGET Tg & AL ST 6 FLaALl
April 2012 and was re-elected on 6 February 2018? 2018 =T II&TT I TT?

A) Judge Dalveer Bhandari A) =raTefter T $e T
B) Judge Dipak Misra B) =amamefter <rus f=w

C) Judge Nawaf Salam C) =ararefter TaTH FToATH
D) Judge Mohamed Bennouna D) =aTaTefter ATgvHE IR T
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7) Which among the following rivers form the 7) fMwferfea & & & =t A=T foraews® SterTd =T

waterfall, Sivasamudram?
A) Hemavati

B) Godavari

C) Cauvery

D) Mahanadi

8) Smallpox is a disease caused by
A) Bacteria

B) Virus

C) Protozoa

D) Fungus

&7

A) ZaTET
B) raTadt
C) FTadr

D) ggTear

8) T TAH & Tohet TN | g ATeAT STHTL 572
A) SFETAT

B) aTaH

C) Trerstrat

D) wTH

9) Which of the following rulers from the<Gupta 9) T Trs@Eer & Fwfeied amast § ¥ BT qa9

dynasty first assumed the title as 'Maharajadhiraja'?

A) Samudragupta

B) Chandragupta-Ii
C) Chandragupta-I
D) Sri Gupta

10) How many number of states are there in India as

of April 20187
A) 20
B) 22
C) 29
D) 25

T AT TSt &7 ofive v fohar a2
A) FHEIH

B) =v[d faehia

C) Fvad TIH

D) A

10) 3T 2018 T o HATTaH AT | Fohael 5T 872

A) 20
B) 22
C) 29
D) 25
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Section 2 - Logical Reasoning

11) Seema’s mother has 2 daughters Seema and 11) ®THT &I ATAT T 2 SfeaT &, HAT A< ATAT| AT To7eT

Neema. Neema is the wife of Rajesh. How is Rajesh T Tt 81 TToTeT T HTHT & F7 Haer 872
related to Seema?

A) Brother INELES
B) Son B) =¥
C) Son-in-law C)T™TE
D) Brother-in-law D) srgrs

12) If Sheena says, “ Manju's Mother is the only 12) 3T f9T Tl &, "He T ATAT Y THL TSI g

daughter of my father-in-law Rajsingh”, then how is Z&eTdT Tt 8" T STATAT HS AT ATAT & 97 Haer 272
Sheena related to Manju's mother?

A) Sister-in-law A) arsft
B) Mother B) #TaT
C) Sister C) dg
D) Niece DEGIEL

13) Three of the four choices mentioned below belong 13) 1= faw 70 9= fAsfea & & = U &t Joft AT =TT
to the same category or class. Find the odd one out. gl TAH & TET AT 1T

A) Wular A) TX
B) Kaveri B) ®Ta<t
C) Indus C) =9
D) Brahmaputra D) sg[q
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14) Select the option that will make the second pair 14) 3 3w T FFT FL ST AL ST FT TgAT STST

analogous to the first pair.

Constable : Police Station :: Judge : ?
A) House

B) Forest

C) Farm

D) Court

15) What is the next term in the given series?
The series is 113, 117, 133, 169, ?

A) 185
B) 233
C) 195
D) 261

16) If the price of oil decreases by 30%, then in order
to balance the budget the consumption of oil must be

approximately increased by
A) 63%
B) 43%
C) 53%
D) 73%

17) A train of length 840 m running at 72 kmph

crosses the pole completely in

A) 33 seconds
B) 88 seconds
C) 42 seconds
D) 84 seconds

F gUEY FATUIT

FECT : I &4 52 S 0 ?
A) =T

B) ST

C) W

D) Fe

15) €1 8 sfrrerT 3 aTeA T AT 27
s§Eer 2 113, 117, 133, 169, ?

A) 185

B) 233

C) 195

D) 261

16) T2 T 1 H1HT 30% FE ATAT &, AT Al H T
FIA & o0 et it @O # e FhaAt gl gt Are?

A) 63%
B) 43%
C) 53%
D) 73%

17) 72 kmph Y I & ST TET 840 m T T TF T
& qE & A W H g w62

A) 33 FHvEgH

B) 88 #vgH

C) 42 FveH

D) 84 d¥FvgH
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18) Three of the four words mentioned below belong 18) == faT 1T =¥ ereat & & e U= Er AV AT T 2|
to the same category or class. Find the odd one out.  7H & &I 3(TT FIforT)

A) Wagon A) TH

B) Cockpit B) Fiwfue

C) Berth C) st

D) Platform D) wewHiH

19) What is the next term in the given series? 19) & IS AT | SWTAT FEAT FAT 52
The series is 17.2, 29.7, 42.2,54.7, ? %I@T'IT%” 17.2,29.7, 42.2, 54.7, ?
A) 62.7 A) 62.7

B) 53.4 B) 53.4

C) 54.3 C) 54.3

D) 67.2 D) 67:2

20) A car covers a certain distance in 4 hours at'a 20) T& #1240 km/hr FT T & 4 S H v Afem @ ax
speed of 40 km/hr. To cover the same distance.in 5 F¥dT g1 5 ¥ § gt T T FA & oy, F12 A7 Fhg i

hours, the car has to move at a speed of H AT FEAT T2
A) 48 km/hr A) 48 km/hr
B) 40 km/hr B) 40 km/hr
C) 32 km/hr C) 32 km/hr
D) 60 km/hr D) 60 km/hr
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Section 3 - General English and Comprehension

21) Identify the synonym for the word - Asset 24) Identify the Antonym for the word - Lawful

A) Location A) lllicit
B) Ornament B) Legal
C) Advantage C) Wily
D) Group D) Covert

22) Choose the correct word substitute for the

25) Identify the part of the sentence that has an
following sentence:

error:

A person who is abnormally anxious about their The cattle ruin the whole field full of wheat.
health. A) field full

A) Bipolar B) of wheat

B) Paranoid

C) ruin the whole

C) Hypochondriac D) The cattle

D) Schizophrenic

23) Choose the meaning of the italicized idiom

used in the given sentence.,
It was really difficult to extract information from

the convict even after applying the whole bag of
tricks.

A) Irrelevant ideas
B) Strong resentment
C) Simple reasoning

D) All techniques
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26) feferfera & e |1 = a7 798 g2 29) ‘g weg 7 At o= 2-
AT A) ferarae
B) & B) =Tz
C)a C) sree
D) s D) qagTeEs
27) AT FT AT FLA o 70 Hid ST F I 30) fRrfertaa fared] & S19[G aTe g HIT A1 8?2
T T 4 99 9 Feonew yfa § 9g=9 T oar A) g e e Teat Bl
W%mw%ﬁnwwmﬁ% B) @E fer I it e et 2|
ﬁﬂ'{ﬁﬁﬂfw & T8 HgTIAT (A T F47 FIIET| C) 72 Frest i a7 Froar AT 21
T § Y@iteha of o forT et Arahri<h gt -
D) 7@ fAea I it T=21 TEar 2
A) T TG ST FO AT
B) el & TATAT H T Flel
C) 9T/ & T/ [Sfort & |T a9

D) @Y Fl S@HT GEIAT T aAdT

28) fArerferferd ersai & Fwer: Tet TATIATHT Zivl —
Hfa, w=, T

A) T, T, THA

B) IFE, I, T
C) 3o, formrer, |Tfeer
D) wTfa, o=, Tga
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Section 5 - Basic knowledge of Computer

31) Digitizer is categorized under which of the 31) RfSEr=sR &t Fuffaad & & e Raea F a1 A

following category of devices? ERIERRERIR DIV
A) Permanent Memory A) THTHw FHTT
B) Processing B) wierfaT
C) Temporary Memory C) T 9|
D) Input D) =9<
32) Scanner is a/an 32) TFAT UH
A) Input device A) = Rasa g
B) Processing device B) wafHw fRamza g
C) Memory device C) aurdr Rarzwg
D) Output device D) ey fearsa g

33) The process of sending money electronically from 33) e¥we & ST UF @Td & T @Td | SoFel e =

one account to another over internet.is known as H & ST T TTHAT T FAT FgT ST 872
A) Electronic funds transfer A) TIFIHF HE TTEERC

B) Easy fund transfer B) =il %E ZTHHT

C) Internet money transfer.

C) =¥ T TTaHT
D) Internet funds transfer

D) Ze¥Ae % TTHHL

34) Which of the following is an input device? 34) fAaferiga ® | i |7 fRarsd Ua eq7e Tarea 8?2

A) Plotter A) wTfeX
B) Speaker B) ==
C) Projector C) Tt
D) Joystick DEIRIEEE
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35) Which of the following Operating Systems 35) fFwfeifera & & %97 a1 siwfen fea, fAfyw
enables many people, located at various terminals, to A=l a¥ forq F2 &R T, U fafers Frere feew #
use a particular computer system atthe same time? T# &I 8T 9% TIRT i | AT FATAT 572

A) Network Operating System

B) Batch Operating System

C) Time-sharing Operating System
D) Distributed Operating System

A) T stafen ey

B) &= sfafeT Rreew

C) ZTeH-AF T sfiqfeT freew
D) RRgsges srmfew feew

36) Which type of spammer sends an email on behalf 36) fFT THTT FT TIHT FATT ST T AT T T AT &
of a known domain so that receivers trust the senders T T S99 ATAT 9T HLET F3 3T 2H @A ?

and open it?

A) Poisoning Filters
B) Domain Spoofing
C) Social Engineering

D) Directory Harvesting

A) TrzstHar feeaT
B) S F T
C) & ISt

D) STILadT grea e

37) What is the first step in Pulse Code Modulation 37) 9e& &€ HISIed THAT H 2T Had FAT 572

process?

A) Quantizing
B) Encoding
C) Modulating
D) Sampling

A) FTETE
B) THITST
C) Wit
D) Fqferr

38) Which of the following is a loopback IP address? 38) M&eiad & & &iId |7 U&h qqa IP T §?

A) 127.0.1.0
B) 127.1.0.0
C) 127.0.1.1
D) 127.0.0.1

A) 127.0.1.0
B) 127.1.0.0
C) 127.0.1.1
D) 127.0.0.1
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39) Which of the following program can attach itself 39) T & & I |T TUTH =T T ITANTHAT T TEATT
to legitimate programs and files without the user’s oA AT TRITHT i< B2l & SIS AT 2 3T T8
consent and it can access private data like user id, rF=q & IUeTsd ITARTHAT ATSST, TTHAS AT HaaANd

passwords and sensitive data available in the 2=T3% fAsit ST T TFIH FT THaT 2
system?

A) Antivirus A) TEETI"
B) Virus B) ar @™

C) Spammers C) &\e

D) Antiworms D) udtard

40) What kind of error does a blue underline that 40) ATEHIEITZaE 2016 |, TF< & qgd (@Ts o ATl
appears below the text represent in MS Word 2016? =it ¥@T f3her a¥g #t e (TX) FT Fraf=feca Far g2

A) Spelling error A) TT T

B) Capitalization error B) FfUeaTZSITT X
C) Hyperlink error C) grevfeis U2

D) Grammatical error D) arafeae 1z

41) Which of the following software allows an attacker 41) =T ® & %17 AT TIHC AT ASHL (FHATAL) FT

to take control of the infected host by the use of a SHEIL & ITATT & HATHT gree T [HF=07 T T AT

backdoor? TqTE?

A) Boot Sector A) e qFT

B) Fork Bomb B) e aTe

C) Remote Access Trojan C) e wHE 2o
D) Adware B)REERES
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42) DHTML is 42) DHTML T qUT &9 #9782

A) SHATHF ZTETCHFE HFHAT TS

B) Dynamic Hyperlink Markup Language B) STIATH® gTedicish HTHaT eivast
C) Dynamic Hyperlink Makeup Language

A) Dynamic Hypertext Makeup Language

C) ST greueicis Hahar Ao
D) Dynamic Hypertext Markup Language D) ST T gTEUveaee HThHaT dAvasy

43) "Thesaurus" feature in Microsoft Word is used for 43) #TZHE % 9 | "J&E" & IHIR T Forg 6

STaTg?
A) Grammar options A) I AT & form
B) Auto Correction B) el ¥aer & forw
C) Spelling suggestions C) =TT g = forw
D) Synonyms and Antonyms D) fifee st uetfave & foru

44) What does CPE stand for with respectto WAN?  44) WAN # &=+ § CPE F4T gIaT 5?2

A) Consumer Premises Equipment

A) FSLHT THES ZHaHE
B) Customer Premises Equipment B) FEEHT JHAW SHITHE
C) Central Premises Equipment C) Hed I SHhiaHe
D) Central Processing Equipment D) Hee THTHT ThiaHe

45) Which of the: following options enables the 45) i # & i a1 faeT g ST Fge greaa
computer hardware to communicate with the F=ETHITEATT % AT TFIH TG H TeIH ATAT 672

computer software?

A) Microsoft Word A) ATSHIETE T8
B) Read Only Memory B) {r= strerett gHTT
C) Mother Board C) gaxdre

D) Operating System D) sfwefe freew
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46) Which storage medium has tracks and sectors?  46) or TS ATEaH | T T TFH BId &2
A) Pen drive

A) 99 IT=T
B) Primary memory B) WA HHILT
C) ROM C) ROM
D) Hard disk D) gTE fow=r

47) Where does the Operating System keep 47) stroxfew foeed gt UfEraTsti i AT Fgl @l

information about all processes? a?

A) FIFO A) FIFO

B) DMA B) DMA

C) Process Table C) Wi 9
D) Stack D) &%

48) Which of the following devices canread data and 48) F¥foriad ® & AT [SATSH 2T IE THATE A Ig
convert them to a form that a computer can use?

U U & § T HC ThdT g 1970 HET ITANT HT

qEh?
A) Processing devices A) Tt fRarea
B) Input devices B) =Aqe Rar=H
C) Output devices C) sr3eye fear=zH
D) Memory devices D) ¥9T fRarze
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49) What is the purpose of Crop button in MS Word 49) MS € 2016 & {7 I T FIT 3297 &7
20167

A) To convert a colored image into black and white ~ A) F= f=r= =T et 3fiT T = & a5+ = forg

image B) fareft =t &t st sraere & forg
B) To resize an image C) foreft =t =7 41 Fgew & forw
C) To change the color of an image D) forefY =1 3 it it &1 gied s ge & forw

D) To trim and remove unwanted portions of an

image

50) Which of the following statements is FALSE? 50) =feriera & & Fi 97 %2\ Tdqd g2

A) An input device sends information to a computer A) TF TAIE fedr=a A tET & fog wege freew |
i AT AT T
system for processing

B) U _39e fe=med Sar Wi % arg qfomy &
B) Aninput device reproduces or displays the results ﬁ-gﬁggm AT YT FaT e

after processing the data C) U r3eye fRareH o1 WHTERT F 13 gfeoms &
C) An output device reproduces or displays the ﬁ';heqqzrr qa-fﬁaah-{a-rg

results after processing the data D) &5t ¥ sre WY uF Raree e Y e

D) Depending on the interaction, a device can work T T | FT F THaT g, Toieg VO =aTed Far
both as input and output, referredto as /O device ST S
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Section 6 - Civil Engineering

51) In a steel beam, when the width to thickness ratio 51) & &t s 19 &, 5T FTeTE T T wi £ Tlars

of the compression flange is sufficiently large, local memﬁwmgﬁ AT wefst it et
buckling of compression flange may occur even TH TR I H TR B A &

_ _ _ T T ATHATE I FIT Hgl AT 82
before extreme fibre yields. Such sections are
generally known as )
_ _ A) TR TeFH
A) Plastic Sections
B) e eI

B) Compact Sections
C) T a9

C) Slender Sections )

D) ATH- i FiFe TeFerd

D) Non-Compact Sections

52) Generally, in chain triangulation, well-conditioned 52) 3T X 9 F<Ia =[S (A TS UII9) &, FaeT
triangles are used for surveying. A triangle is said to % forg sreedt qve & s fora Pt sgen fobhe st &1 o

be well-conditioned when no angle in it is g_grﬁq;imhl T  TFIT T T S G T
A) less than 30° or more than 120° A) 30° & FW 7T 120° & sl T ST

B) less than 10° or more than 110° B) 10° & %% AT 110° & sfars 7 ST 2

C) less than 20° or more than 100° C) 20° & Fw 7T 100° & i 8y ST &

D) less than 15° or more than 90° D) 15° & %W 3T 90° & ATAF T ST

53) A process for extracting minerals or other solid 53) Tgel FHIT | TATHT T FX {0 T FOfAT q@rt o

natural resources’ from = waste materials that @S AT 7 3TE ATHfdH GETAT FH FFHTA AT TH
previously have been disposed of by burying them in =T &1 STHATT 9T FAT FgT ATAT 872
the ground is generally known as

A) Landfill leachates A) TR Areee
B) Unearthing B) =i

C) Excavation C) TFTFAT

D) Landfill mining D) ve et gTefHT
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54) Among the following options, as per IS:800-2007

, 54) Ao fawedi #& &, 1S:800-2007 F AT,

in case of lap joints, usually the minimum lap should & STTZed &, SMATA 9T ATH T =70 & THaH 7 Tal

NOT be less than

A) 4 times the length of weld

B) 2.5 times the thickness of thinner part joined
C) 4 times the thickness of thinner part joined

D) 2.5 times the length of weld

55) The value of the property or commodity at the end
of the utility period without being dismantled is known
as

A) Scrap Value
B) Fair Value
C) Replacement Value

D) Salvage Value

56) When a force is exerted by a flowing fluid on a
stationary body, the component of the-total force in

the direction perpendicular to the direction of motion
is known as

A) Drag
B) Lift

C) Shear
D) Stress

BT AR

A) I HT FATE FT 4 AT

B) SIS U Il T it HI2TS %7 2.5 AT
C) STTE T 9ael 9T ¥ HI2TE T 4 A7
D) 3og & =TS T 2.5 T

55) feaT frarfea foro SeTRaT srafer (gfefordt difvae) &
T H T AT FAS AT T A0 FAT FZATA 272

A) BT I
B) %7 a7
C) FeeFdz avg.
D) AT 9o

56) ST& Fge ATl &9 1T U (e fi 9% o & Sfrar
&, T Tt T e  for Seaa fem & et ot & Jea &
FT FgT AT 8?2

A) 3T
B) foree
C) =TT

D) wfdaer
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57) The dynamic viscosity of a liquid is 1.2 x 104 57) a¥ #T STa=As fFewradt 1.2 x 104 Ns/m?2 g,
Ns/m2, whereas, the density is 500 kg/m3. The Saf® =¥ca 500 kg/m3 g1 m?/s ® FTuaafes Arenrfadr

kinematic viscosity in m?/s is
A) 24 x 108 m?/s
B) 12 x 108 m%/s
C) 12x 108 m¥/s
D) 20 x 108 m?/s

58) The constituent in brick material which imparts
yellow tint to the bricks and decreases shrinkage is
A) Alumina

B) Oxide of Iron
C) Magnesia
D) Silica

(S[& T 9ATHAT) FAT g2
A) 24 x 108 m?/s
B) 12 x 108 m%/s
C) 12 x 108 m?/s
D) 20 x 108 m?/s

58) T it ATHIAT T =TT ST St 1 Frett T T&TH HLam
T 3T Ha T AT, AT 82

A) T AT

B) STZA&T AMFHTSS

C) At

D) ferfernT

59) Generally, the unit of measurement in MKS 59) TUAR 9T, ITAEH § TEIUTA I AT ST TS &

system for dado tiles used in bathrooms is
A) sqgm

B) m

C) numbers

D)cum
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60) If 'q' is the rate of flow of water that flows through 60) =% 'q' 9T % AT T 3T & ST FiE-AF9q THAT 'A
a sample of cross-section area 'A', and steady total  H¥el & HTeAH F qgAT ¢, 3T FIAT T g2 gIT'h' FaTE
head drop 'h' is measured across length 'L', then the 'L'® ATATSITATE, AT Hle € g€ TLH U Tl S& o AT

formula for coefficient of permeability 'k' obtained & YT rFgar o 'k' % forw = oo e foaw
through Constant Head Permeability Testis given by SToT?

(Symbols and notations carry their usual meaning)

LA
A) rIl.' — q

h
i A
B ||rl.' = —
) Lh
gL
C rIt' = —0
) Ah
LA

61) The process by which precipitation is caught and
held by foliage, twigs and branches of the trees,
shrubs and other vegetation, and lost by evaporation,
never reaching the surface of the ground is known as
A) Interception
B) Percolation

C) Infiltration

D) Evapotranspiration

62) Which of the following is NOT a test used for

judging the aggregates for their desirable properties
and suitability on roads?

A) Los Angeles abrasion test
B) Soundness test

C) Specific gravity test

D) Vee-Bee test

(STt 3fIT Teha 3T+ {8 319 § fIu o §)

LA
A) rrl.' — q

h
g.A
B ||rl.' = —
) Lh
gL
C rrt' = —
) Al
LA

61) ST TTRIT T FTFFT SATAT & STt AU, I % Toieg,
ST SfTY ATETsH, ATTEAT ST 7T ATl il Qs
BIRT TeId T g =l STd¥ g, 3T aTsdIaheor § FfF gl
SITAT &, ST ST ol f7dg T FAT del Tgadl 872

INEER T

S ELECERS

C) dq:¥q3=
D) ATSUT-3 oS

62) fRaferfea & & e a1 fheor, g o TRMe
I T AV 3T IUHAT T eI #3 % o
T Tl (AT ST ?

A) Tt UiSed T T

B) HTSSH qLI&q

C) Tt ey wdreqor

D) #¥-t adteror
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63) The ratio of the volume of irrigation water 63) Te faazor yorrett grer faatya fB=Te gt & afmmr
delivered by a distribution system to the water ® SUTTSAT H STeT T UTAT o STATA hl ATHTL T FAT gl

introduced into the system is usually known as ST E?

A) Root Water Efficiency A) A ST ZEaT

B) Water Application Efficiency B) STeT | ZeAaT
C) Water Conveyance Efficiency C) St afvaee zead
D) Water Distribution Efficiency D) Sfef oo gea

64) For a R.C.C beam in the limit state design 64) forifie &= ez (Fr%a®) & R.C.C &rw & fom,
(flexure), the limiting value of the depth of neutral axis 1S:456-2000 # SITATX © I & Fe-415 U< % [T =2

for Fe-415 grade of steel as per 1S:456-2000 is (Given Tfaa® &t TgarE &1 Sf¥ra go7 (Ferferfér geg) Fm 8?2

d= effective depth of beam) ERIERIFENCEIE I RIC TR EA R ERIECC IEA2)))
A) 0.53d A) 0.53d
B) 0.48d B) 0.48d
C) 0.58d C) 0584
D) 0.45d D) 0.45d

65) Generally, a compound of ‘cement, which is 65) 3TH T U¥, HHZ FT Uk JTRI, ST Fhie F ATTR
responsible for most of the undesirable properties of STATET UM & forw HFA= g, FITATE?

concrete is

A) CsA A) CsA
B) C.S B) C2S
C) CsAF C) CsAF
D) CsS D) CsS
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66) Widely separated contour lines on a map usually 66) T A= 9T ATIE &7 F JT THIF @0 (FX

represents a

A) Valley

B) Cave

C) Vertical Cliff

D) Flat topography

ATS) 3T TTC I FIT FLATAT 82
A) =TET

B) T

C) SeateT agT™

D) W TIATH

67) The quantity of water consumed in evaporation, 67) F&al FI T&d F ILTT ATCUIHLI, FTCATEST T
transpiration and metabolic processes during crops FATIFT TOHATSAT | GUA, @G Iz F 7T ISTHRT
growth, including water consumed by accompanying T T 9T+t |Tgd AT &1 /AT, FT Fgl ATAT 572

weed growth is known as
A) Conveyance Water Use
B) Water Application Use
C) Plant Growth Use

D) Consumptive Water Use

A) TEES ST STIRT
B) Tt ST ST
C).Trer farerTer ST

D) &THTT S ST

68) Which of the following is the CORRECT 68) fFwferfad # & % a1 Us d19dl & I Aiegad (E)
relationship between the Young's modulus(E) and 3fiT a&& Hiegad (K) & 1= dael ol g7

Bulk modulus(K) of a material?

(7gt: K= 74T T 1qaTa)

(Here: K= Poisson's ratio) (Symbols and notations (Sefte 3iI< Heha rqer TT9TT 31 § &)

carry their usual meaning)
A E = 3K(L-<2u)
B) K = 4E(1 —2p)
C)K =3E(1— 2w
D)E = 2K (1 — 2p)

A E =3K(1—2p)
B) K = 4E(1 — 2p)
C)K =3E(1—2p)
D)E = 2K(1 — 2p)
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69) The water content of soil that represents the 69) THET & ST &t ag ATAT ST WATTEes FTEAT T 7F
boundary between plastic state and liquid state is &= & == H1HT A=UT FAT B, FAT FZATAT 2

known as

A) Solid limit A) Tifere forfare
B) Shrinkage limit B) e ferfare
C) Liquid limit C) forfere forfre
D) Plastic limit D) wATfees fertie

70) In waste-water treatment, generally the Flotation 70) 3Maforeg Sor IU=TT &, 316 F911 T FT FLA & [0

method is used for the separation of solid particles STHTI 9T FeAT T aTer ST=H hf STt & ST 6
that are

A) heavier than water A) THT AT ETTE
B) only green in color B) M A HFAABLEIA 8
C) only black in color C) T H Fae FTT 1 &
D) lighter than water D) a1+t & ge 21d &
71) Point of contraflexure in a beam occurs when the 71) T& &H | FiveFelasie (6§ a9 ST gIdT § ST& S
bending moment Aol (TS ATHE);
A) is minimum A) FIATH BIAT
B) is negative B) TTHRTITCH BT &
C) is maximum C) aferher gram e

D) changes its'sign D) 3T fovg Seaar g
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72) The sectional view drawing in which one fourth of 72) T# H=Fe=er (AT 2 ST Fored Foret awq & U
an object has been marked for removal is knownas a =TaTE 91T &7 g2T9 & forw =fema ey & <5 G

AT & ST ATAT 52
A) Quarter Section A) FTETHFIAT
B) Full Section B) T HFT
C) Half Section C) BT "=
D) Inclined Section D) TS "

73) In the first angle projection of presenting the six 73) &g AT 2o T eI & Hre U Toraerd 7, 2T

standard views, the top view is located = Fgl FIAq AT g2
A) Right-side of the front view A) e = & T0f T
B) Left-side of the front view B) the ST & aTHl 3T
C) Above the front view C) e 3 & FI<

D) Below the front view D)z =g A

74) For the quality control of Portland Cement in the 74) TSIt @€A1 | qedie #He T urar A= & form,
fresh state, which of the following tests is essentially fererferfera & & =i |7 ateror afq=rd &9 & e s

done? 2?

A) Setting time test A) FTET ZTew Tdrer
B) Curing time test B) =T 2T/ TirerT
C) Purity test C) Tt wdteror

D) Durability test D) spefaterdt wéreror
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75) In Versenate method (Hardness test) the water is  75) a&-e fafdr (Farear wrerm) §, = fAaaT & ®7 H
titrated against EDTA salt solution using Eriochrome T seiah &1 T SYAT ek EDTA 779 o faera+ &
Black T as indicator solution. Here at the end of fa%g 9Tt Fi aTzee AT STTAT g1 FGT TS & T H,

titration, the color changes from WM TEA T FAT 21 SATAT 572
A) Wine red to blue A) FTEH STH AT W7 | AT
B) Blue to seagreen B) #fer & geat AT or

C) Yellow to blue C) ¥t & e

D) Blue to yellow D) =fer & drer

76) Which of the following statements is TRUE about 76) f#Tor & T so<h =meee & an § Mefoiied | &

the plywood used for construction? T 9T HIFT T5hg?
A) It has greater impact resistance to blows than A) ?RTEF AT AHET T AT § e % fory srfd
ordinary wood R AEATE
B) €W U=eT & HT 1 ST=x1 dATehd 2ial &
B) It has good strength along the panel only
o C) 28 et & aaer & fasriSr v st asrar g
C) It can be spilt in the plane of the panel )
DY T HHTT WIETE ATel HATETLOT RS T T [T H Arereh

D) It cannot be bent more easily than ordinary wood
of same thickness

ATATAT | Tl HIST ST HFAT S

77) As per the general rules for the measurement of 77) W& &t ATTF ATATT HFHT * AT ATIA 6 T

a building, all works shall be measured subject to F1at & forw ws fAfera agaefiear aa 21 =0 gad & ==
certain tolerances. In“this regard the cubic contents HTHRIT FT MaEeaH ATH fhadT gRT?
shall be worked out.to the nearest

A) 0.1cum A)0.1cum

B) 0.01 cum B) 0.01 cum
C) 0.001 cum C) 0.001 cum
D) 0.0001 cum D) 0.0001 cum

Page 23 of 32



www.ErForum.Net
51948_19

Page 24
BATCH02_JUNIOR ENGINEER CIVIL_29JAN2019

78) When there is a rise in water table, for the water 78) STHIH T Trag & == U+ & TI¥ & o0, St 9T+t

level below the ground surface, which of the following &ag & 3t it &, T FHET & TATAT T9Ta (THied &) &
given statements is TRUE for the effective stress in aT< # MHTed AT 0 FHAAT H & I 97 FI9 Tol 872

soils? (i) T2 & 7 Rt & forg 9 et 397e 98f aeaar g
(i) The effective stress for the above given condition (i) ¥ &t 72 Rurfa % forg yaret sama #9721 JTar g
does not change (iii) 9T & T Forfa & forw sret gare Afars gr Srarg

(il) The effective stress for the above given condition
decreases

(iii) The effective stress for the above given condition

increases

A) Only (i) is TRUE A) FaT (jil) TR T

B) Al (i), (ii), (iii) are TRUE B) (i), (ii), (iil) &rsft 7T &
C) Only (i) is TRUE C) = (i) #gt &

D) Only (ji) is TRUE D) et (i) @2t g

79) The ratio of the quantity of water stored in the root 79) ®&<ii & g & ® &f=a ar=t Y g sfic &aq &
zone of the crops to the quantity of water actually aTedfeqd 7 & =Tl T THT KT HEAT &

delivered in the field is known as ST FIT FgaATaT g7

A) Water Application Efficiency A) FTET TTATRET TR TaHT
B) Water Conveyance Efficiency B) ATeT eaud UTHFOrTEY
C) Water Use Efficiency C) aTe< I UIRFOruHT

D) Consumptive Use Efficiency D) FEeated Io TIthf AT

80) Convert the given Reduced Bearing N 58°24' W 80) faw 1w Regee foiar N 58°24' W &t grer &l

to Whole Circle Bearing. [ERIESERITCInLENEL
A) 301°36' A) 301°36'
B) 301°46' B) 301°46'
C) 302°36' C) 302°36'
D) 301°26' D) 301°26'
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81) While analysing the costof a building, water 81) fFeft wa= ¥ forw figa w1 f[Agww Fxa Tv7, 7
charges are added on those items which require a3 I ST e ST STqT &, Foree forw fAwior & urer
water in constructionand these charges are generally #T STFYTHATZIAT g 3T T TATL T, ATH AL I, A 3T

added at the rate of about T SIET AT 8?2

A) 10% of the total cost A) T AT T 10%
B) 12% of the total cost B) F AT T 12%
C) 1% of the total cost C) T AT FT 1%
D) 5% of the total cost D) % AT T 5%

82) As per IS: 456-2000, the acceptable limits of 82) IS: 456-2000 = STHTY, §vah 3T TEAH ISTIL A0
crack-width for concrete structures exposed to mild =T fRerfa=i & smTavw & Fehie i F=TsM F forw Fhep-
and moderate exposure categories or conditions are fager #t S AT FAT 2

A) 0.3 mm and 0.2 mm respectively A) FF4: 0.3 mm T 0.2 mm
B) 0.2 cm and 0.3 cm respectively B) ##er: 0.2 cm 37 0.3 cm
C) 0.3 cm and 0.2 cm respectively C) ®7eT: 0.3 cm 3fiT 0.2 cm
D) 0.15 mm and 0.5 mm respectively D) ##7er: 0.15 mm 3 0.5 mm

83) The stopping sight distance for traffic control on 83) grear ¥ &t f==or & forw wifdr Arze REw
highways depends on total reactiontime of the driver. ITZa¥ & Fel IAHRAT FHT X 9T F2aT 81 T8 I097
This time is best explained by "PIEV" theory. Here E "PIEV" fRrgia g e sT==1 THATAT AT 81 T8 E

stands for f FTE?
A) Emotion A) THTI
B) Exertion B) TFSeH
C) Erection C) T
D) Eviction D) ufaee™
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84) Generally for steel construction, the Indian 84) =r® T¥ 9¥ et fAwior & forw, wreda a9+ Fie
Standard code 1S:800-2007, recommends the use of 1S:800-2007, Fae I ATHIT H U= (T TT T=&T F ITIART

punched holes only in material with yield stress less T F&id FeaT & oA Ao gida:
than

A) 540 MPa A) 540 MPa # ## g1 g
B) 360 MPa B) 360 MPa & #H Zrd1 2
C) 550 MPa C) 550 MPa & ¥ a1 &
D) 450 MPa D) 450 MPa & & ZrdT 8

85) If a storage tank, which is completely full, contains 85) 3RTT TXT 9T g TTHT &l 20l § T+ #6f F=Ts 11.3 m

11.3 m height of water, what pressure would a ¥, @7 #T & = W& 1.5 m 39T F2IT T I F27
pressure gauge read, that is located 1.5 m above the S gorfuT?
bottom of the tank?

A) 9.81 kPa A) 9.81 kPa
B) 9.61 kPa B) 9.61 kPa
C) 96.1 kPa C) 96.1 kPa
D) 10.9 kPa D) 10.9 kPa

86) The binding material used.in cement mortaris ~ 86) ¥z & MY & YH e ATAT ATHUT I HT &2

A) Sand A) YT
B) Surkhi B) T
C) Cement C) #fiH=
D) Cinder D) @
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87) In Engineering Drawing, the parts which are NOT 87) Us SS{ITH=ITT T3 |, ST AT fa@Ts 7gi ad 8 o
visible like hidden outlines and edges of a structure =T g5 TRETY T FRET H=FFT % FFATY, AT T

are usually represented by e fA=foT o ST 872

A) Dashed narrow lines A) 29T AT AT

B) Long-dashed double dotted wide line B) SFT-39T S T1E AT AT
C) Long-dashed dotted wide line C) ATFI-S9T ST AT AT

D) Dashed wide lines D) 29T TS ATSH

88) As per IRC: 73-1980(Rural Highways), the 88) IRC : 73-1980 (¥ Bl2as ) & WaTa#®, WX
Roadway width of the Major District Roads, for single- f=fizae g #t gz &I AteTs (T=a fAagy), Fra<m
lane and two-lane roads in plain and rolling terrain 3fi¥ 3T-o1F ATATHEST &6 (1T THTA A (W) ST TR

shall be TATH | Tohat gIoT?
A)9m A) 9m
B) 7m B) 7m
C)6m C)6m
D) 12m D) 12 m

89) The fineness modulus ‘of sand used in 89) IS 1542:1992 & saTY, fAHTT w1 & wTE

construction work for plastering purposes, as per IS I2e=i & oI YI<F ¥ T GeAdT ATHT 6T HHT FITZRN?
1542:1992 shall be in the range of

A) 0.5-0.9 A) 0.5-0.9
B) 1.2-22 B) 1.2-2.2
C)55-75 C)55-75
D)3.5-52 D)35-52
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90) Contour lines with V-shape that show convexity 90) V-3T&TZ 3 AT HHIE T@TU (FETATSA) ST HAT THIA
towards higher ground or towards elevation of ground #Y 3% 3T STHIH % TT¥ F IeATH Y AT IqAT fT@TdT 2,

plateau generally indicate a AW AU, Thaent Hoha <l 872
A) Valley A) =TEY

B) Ridge B) 74d 43

C) Vertical Cliff C) SeategT agT™

D) Flat surface D) F9dd ST

91) For saturated soils, the coefficient of 91) dg¥ce gl = form, ot &t waTg 3T 3T FregIioT
proportionality between the flow rate of water and the #g UT=de & #F AIITG F I[OMH (FIATHA< A

hydraulic head gradient, is usually known as Tt oY) L SATHAT YL 97T FHgl SATdAT 82
A) Coefficient of Discharge A) FTUTHRIUE 3T ey

B) Head Constant B) &8 Fivee

C) Coefficient of Permeability C) Fufkforuee s qefaufaferdt

D) Coefficient of Transmissivity D) FUfhforTee AE Tra e &eT

92) If in a Dorry's Abrasion test of stones that are to 92) Iz H=F & FH H TEIHTA g ATl TeI il A
be used for roadworks, the loss in‘weight is 21 grams, TS ST #, a9 | 21 TH i FHT Il g, AT HSIAT

then the coefficient of hardness will be T (FTTTRIATUE ST gTE =) ST
A) 9.5 A) 95

B) 21 B) 21

C) 13 C) 13

D) 17 D) 17
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93) Ability of a material to regain its original shape 93) YT AT FT Z&TH ¥ A e ATHTL T THT T TTH FT
upon the removal of the applied loads is termed as; == & 9&T¥ & 0T & gl STAT &;

A) Torsion INEAGT

B) Shear stress B) s = H

C) Moment of Inertia C) HTHZ i Z<r9maT
D) Resilience D) Yot

94) In a concrete mix, the separation of coarse 94) T @Fsfie =0T &, I AT HETA T TeI¥ ATAT T

aggregates from mortar is generally known as T AT ATAA 1L I o AT & ST ST 82
A) Bleeding A) sAET

B) Spurting B) TfeT

C) Honeycombing C) giieniteaT

D) Segregation D) AT

95) As per IS 800:2007, the maximum effective 95) IS 800:2007 % STETY, et HFarT T AT Srsha s STTaT
slenderness ratio of a member normally carrying FTS{dd TUTd fraeT 2T =Ry, S aTHTy ®9
tension but subjected to reversal of stress due to wind & T Ag L & AT gaT AT T TAT o6 HTLIT (et

or earthquake forces should be & R % T 52
A) 95 A) 95

B) 350 B) 350

C) 250 C) 250

D) 180 D) 180
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96) In a doubly reinforced rectangular concretebeam, 96) U# ITN[AT Yaford SMAATHIT Fwhie d17 |, Fd=A
the distance between the centroids of compression 3T TH Yo & &l & o1 T LT FT AT T TL FT
and tension reinforcements is generally known as Fgl ATAT 8?2

A) Lever Arm A) =T e

B) Neutral axis depth B) =z« Ufaad 39
C) Neutral Arm C) =g ¥

D) Critical axis depth D) fohfeser uiees o

97) While checkingthe quality of water, generally, the 97) dT=T T I[UTa<T ¥ ST ®Ld THA, AH T TT, <.

presence of E. coli bacteria is an indicator of FIATS TFEITLIT %0l IATEA T ToheTahT Fehclsh graT g2
A) Fungal contamination

A) T HUT
B) Algal bloom B) ST &1L
C) Oil contamination C) 7% HguIT
D) Faecal contamination D) H HZUT

98) In the analysis of an Open Channél Flow, usually 98) 3o« 3et ¥l & fFuor §, srad < I I Hise Fav
if the Froude Number is less than one, the flow is T# & &H § a1 YaTg (FT) &1 ey afeariua

termed as ERISIEIEN

A) Supercritical Flow A) FoRiehieae Tl

B) Subcritical Flow B) wafohfeaher wal

C) Constant Discharge Flow C) wiwee~e fRvaTst welr
D) Critical Flow: D) fohfeser vt
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99) Influence lines usually represent the effect of 99) TFFIUHT ATSH AHATL X {7 H & FoheT AT o To1H
which load among the following, only at a specified FT TFaTA HFT I Fadl A< e foig T2 FofdT 52

point on a structural member? A) FHAEIT AE

A) Concentrated load B) Ffaiit RResgez«re
B) Uniformly distributed load C) A=A AT AT

C) Uniformly varying load D) gferare

D) Moving load

100) Generally, which of the following statements or 100) 3ITH T 9T, Fhie § Topad TAT T FH FA o6 ITC
factors is TRUE about the reduction of Shrinkage # MHTad & & FId AT HAF AT 1L Gl 52

effect in concrete? (i) T FT SFHATAT AFAT AT HH HAT

(i) A high cement content will reduce the shrinkage (i) FH TT=I-HH e FATITT TEAT I FHH FHATT

(i) Low-water-cement ratio will reduce the shrinkage (i) T @t HaTLT ST & HH= FH graT g
(iii) Allonger curing period leads to lower shrinkage

A) Only (i) and (iii) are TRUE A) T (i) 3 (jii) TRT 8

B) Al (i), (ii), and (iii) are TRUE B) (i), (ii), 37 (iii) T ST &
C) Only (i) is TRUE C) *Fa (i) 75T &

D) Only (i) and (iii) are TRUE D) et (i) 3 (iii) T2 &
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